S7 Maths & Stats

Ex 3f

8)
a)
P(classified as type A | It is of type B) = P(x > c | It is of type B)
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P(classified as type B | It is of type A) = P(x ( c | It is of type A)
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bi)
P((a previously misclassified type A organism is correctly classified by method II) and



  (a type A organism is classified as type B by method I))



= P(
[image: image3.wmf]¥

<

<

x

d

| It is of type A) – P(x > c | It is of type A)



= 0.95d+1 – 0.95c+1


Hence 



P((a previously misclassified type A organism is correctly classified by method II) |



  (a type A organism is classified as type B by method I))
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bii)
P((It is classified as type B by method I and is classified as type A by method II) | (It’s of type B)



= P(d < x ( c | it is of type B)



= 0.9d+1 – 0.9c+1


Hence



P(a type B organism is misclassified by method II | It is correctly classified by method I) 
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9a)
P(rain on Wed) = P(rain on Wed | rained on Tue) + P(rain on Wed | not rained on Tue)
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P(rain on Thu) = P(rain on Thu | rained on Wed) + P(rain on Thu | not rained on Wed)



= 
[image: image7.wmf](

)

2

2

4

5

4

5

1

5

4

1

5

4

b

ab

b

ab

a

b

a

b

b

a

a

-

-

+

+

=

÷

ø

ö

ç

è

æ

+

-

+

+




= 
[image: image8.wmf](

)

(

)

(

)

5

4

4

3

5

1

2

2

b

a

b

a

b

b

b

ab

a

+

-

+

=

+

-

+


 b)
P(X | Y) – P(X | Y’) = 
[image: image9.wmf](
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10a)
P(print letters ‘a1’ twice) 


= P(print letters ‘a1’ twice | the impulse is ‘a1’) + 
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P(print letters ‘a1’ twice | the impulse is not ‘aj’)


=
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P(‘a1’ is printed twice | the impulse is ‘a1’) = p2

∴P((‘a1’ is printed twice) and (the impulse is ‘a1’)) = 
[image: image14.wmf]n
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Hence P(the impulse is ‘a1’ | ‘a1’ are printed twice) = 
[image: image15.wmf]p
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  b)
Let E be the event that the first print out is a1 and the second print out is not a1.



P( E | impulse is a1) = p(1-p)


P( E | impulse = aj where j ≠ 1) = 
[image: image16.wmf](
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∴P( Impulse is a1 | E ) = 
[image: image18.wmf](

)

(

)

(

)

)

2

(

)

1

(

)

1

(

2

1

1

1

)

1

(

)

1

(

2

-

+

+

-

-

=

ú

û

ù

ê

ë

é

-

+

-

-

-

+

-

¸

-

p

n

n

p

n

p

p

n

n

p

n

p

p

p

p





= 
[image: image19.wmf]2

)

1

(

-

+

-

n

np

n

p


Ex 4a

1a)


	x
	0
	1
	2

	f(x)
	30/56
	24/56
	2/56


 b)


	x
	0
	1
	2

	f(x)
	36/64
	24/64
	4/64


7a)


	x
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	f(x)
	0
	2/90
	4/90
	6/90
	8/90
	10/90
	12/90
	14/90
	16/90
	18/90


	y
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	f(y)
	0
	18/90
	16/90
	14/90
	12/90
	10/90
	8/90
	6/90
	4/90
	2/90


 b)

	x
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	f(x)
	1/100
	3/100
	5/100
	7/100
	9/100
	11/100
	13/100
	15/100
	17/100
	19/100


	y
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9

	f(y)
	10/100
	18/100
	16/100
	14/100
	12/100
	10/100
	8/100
	6/100
	4/100
	2/100


_1096537078.unknown

_1096537660.unknown

_1096605166.unknown

_1096605412.unknown

_1096537921.unknown

_1096538148.unknown

_1096538264.unknown

_1096538050.unknown

_1096537713.unknown

_1096537465.unknown

_1096537520.unknown

_1096537169.unknown

_1096536465.unknown

_1096536945.unknown

_1096537021.unknown

_1096536737.unknown

_1096535976.unknown

_1096536232.unknown

_1096535802.unknown

